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Fal1 LFleurd) 2 GTeTSIT CTeTLISEME
sRlurTsgs QameTaTay . oFasriudeile @szs)gpu_(ﬂ@ulﬁ]a'ﬂ SIHME
sesraviiCiumeTflD 2 L erquiTs Qs fefl&sayid.

@) Beow o@z SGHUY wwolmear LLHCWL TWHUSDHGSL
<23 5CsMg(HeusDGLD Lwetu(d&s Cougn (B LILBISET eUenTeusn&
Queflée LwWeTLBHSSELD.

(1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

—

Qeuedlemgser HsE LGSsmar Qs mesTL&l-
This question paper contains four parts.

(i)

()
(1)

ugd -1 /PART -1

SENETSS N ETESEHEGLD Sen_weflEsa|bd. 14x1=14
L safle Wsa|b erhLepLuw SlenL_uflen e

Qsr@&sIULL BIETE ellen
SenLulenamd Gsiss 6T(LPSGYLD.

CsipAs05s GIE-O-
Answer all the questions.
ate answer from the given four alternatives and

Choose the most appropri
the corresponding answer.

write the option code and

[é]@[_]l_l& / Turn over



https://www.kalviexpress.in/
https://www.kalviexpress.in/
https://www.kalviexpress.in/
https://www.kalviexpress.in/
http://www.a-pdf.com/?wm-demo
user
Typewriter
X - SEPTEMBER 2021

user
Typewriter
GREEN GARDEN MATRIC. HR. SEC. SCHOOL

                      Perundurai R.S.

         PH: 9486379461, 8344933377


X - SEPTEMBER 2021

4962 2

1. n(AxB)=6 wppitb A=(L 3} erafléd n(B) parg :

(=) 1 () 2 (@) 3 (/) 6
If n(AXB)=6 and A={1, 3} then n(B) is :
@ 1 b) 2 € 3 (d) 6

2. 1729 g uané srrafluu@sHLCUTE, BSL LUsT aansaiar oi(&EGaemear
G (HGe :

(=1) 1 (=) 2 (@) 3 () 4
The sum of the exponents of the prime factors in the prime factorization of 1729 is :
(@ 1 b) 2 (€ 3 (d) 4

3. F;=1F,=3 wpmud F =F,_;+F, _, erens Qar®ésiiuigern, Fr 2peg) :

(=1) 3 (<) 5 (@) 8 (/) 11
Given F;=1,F,=3 and F,=F,_;+F, _, then Fy is :
(@ 3 (®) 5 (© 8 d 11
256 x8y4z10 ] .. .
4, ————— Wie auGSepeLD :
25 x61/62° Y
16 |x°* v 16|y 16 |x2*
(=) 5 [ (=) 1023 (@) T 2 (M 5[
256 18y*210 o
The square root of W isequal to :
2 21(.
16 |x°2" y 1]y 16 |xz”
(@ S|, b 10123 © T2 @ 5[5
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@@ Crilu SweUTiger eueTLILLD ¢ DG LD.
(=1) CrrsGar@ (<) UL b
(®) ureueemuid (/) <Fureueerwib
Graph of a linear equation is a
(a) Straight line (b) Circle
() Parabola (d) Hyperbola

am, am+1l am+2 o Huieupiles 8.Qum.6. :

(1) a™ (<) am+? (@) am*2 (/) 1
The G.C.D. of a™, a™*+1, am*2 js :
@) am™ (b) am+1 (c) amt2 d 1

AABC 19 DE| BC, AB=3.6 @5.18., AC=24 Q.5 opgud AD=21 Qe.18. crafed,
AE ules Berid :

(=1) 1.4 Q&.18. (=) 1.8 GQ&.18. (@) 1.2 Qs.i5. () 1.05 Qg.8.
If in AABC, DE||BC, AB=3.6 cm, AC =24 cm and AD=2.1 cm then, the length of AE

1S ©

(@) 14 cm (b) 18 cm () 1.2cm (d) 1.05 cm

aul_Lgglen QeuafliipLs Lerafudembal el LS50S THSMEN an@@aw@a;m'

eUEOWIGTLD ?

(=) oy (<) Grem®

(@) yeupp TaTaisms (7) SR

How many tangents can be drawn to the circle from an exterior pqint ?
(a) one (b) two

(c) infinite (d) zero

[ ‘é_;’—J]@qua; / Turn over
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: P (pECHTETSEIET
9. (-5,0),(0, —5) pmd (5.0) <l yereflsarmed T TR C LN ol
uguL ¢

(1) 0 & SiEGEeT (<) 25 & D|VGSHET

(@) 5 & SE@HET () ergia)bldame

The area of a triangle formed by the points (—5, 0), (0, —5) and (5, 0) is :

() 0 sq. units (b) 25 sq. units

() 5 sq. units (d) none of these

10. (0,0), (1,0) opmyd (0, 1) eremm LidTefsenar (pepansarTas QaranL w&ECETamHen

SMHDETE :
(1) V2 (<) 2 (@) 2+2 (FF) 2-42

The perimeter of a triangle formed by the points (0, 0), (1, 0) and (0, 1) is :

(@ 2 (b) 2 € 2+42 (d) 2-2

11. gm Camyrsden 2WrsHDED Sige Ripailen fersSHn@o 2erar NS0 V3 11
areflé, GRwemens sraybd gHps GCarer Sjaraurag) :

(1) 45° (<) 30° (&) 90° (/) 60°

If the ratio of the height of a tower and the length of its shadow is /3 :1 then, the

angle of elevation of the sun has measure :

(a) 45° (b) 30° () 90° (d) 60°
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Wi

<& 5 Qs.b. wOMID Fryywrd 13 Qs.5. cenw Cpm Qi s sabdlar o

() 12 Qs.18. (<4) 10 Q.15 (@) 13 Qs.8 () 5 Qs 8

The height of a right circular cone whose radius is 5 cm and slant height is 13 em will
be :

(a) 12 cm (b) 10 em () 13 c¢m (d) 5cm

@ sieorsGarargdlen Qurgsl Lriy DG RTHHEImLL sz

Lol_réJGW@Lb.

(24) ™ (=) 4w (@) 3w () 2=

The total surface area of a hemisphere is how many times the square of its radius ?

(@ = (b) 4w () 3w (d) 2=

R US555H0mHg Fwo eumiliy wenule em ussw GCsrrtsHas
LREDE. DBSL LGS eTamaniler eanTid @)L wHliureag) 7-8 el s Gapauns

QmuusH&ETeT ﬁ]a;@g,émrrmgg :

(@) = (<) 75 @ 5 (%) 3

A page is selected at random from a book. The probability that the digit at units place

of the page number chosen is less than 7 is :

7 K
@ 15 ® 15 © 3 @ 2

[cggbuqa; / Turn over
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Ligd) - 11/ PART - 11

. ‘ . ) Y bk ehjear® o e 28 & .
wau s nmmcmm‘m 10 eblanmas (@&, ehlen i petias ey ts iy
sLLnuwes dlacwetiasain

Note : Answer any 10 questions. Question No. 28 ts compulsory

15. A=(L 3, 5), B=[2 3] erafd@ n(A x B)=n(A) X n(B) erars & CR
If A=(1, 3, 5) and B=(2, 3] then show that n{A xB) = n(A) = n(B).

16. A={1, 2, 3, 4, ....., 45) wHmwb R erap e.pay "A - Qe Smy, @ @Y GaOT Gant) &am
Q&S ren auengupssLULLI® R -m AXA -ufert psa@unors r(Eis
Cugih R -&&rar wHUusHmEUD, ciFsshapu|b Krars. -

Let A={1,2 3,4, ..., 45) and R be the relation defined as “is square of a number” on
A. Write R as a subset of Ax A. Also, find the domain and range of E.

17. 3,6, 9,12, ..., 111 eap &aLB5srer aflaslld oda opiysaia
cTaEnafGengWE ENEIE. y
Find the number of terms in the A.P.

3,6,9 12, ..., 111

18.

3+k, 18-k, 5k+1 ereniuency gy salMpEgrit arflamsulld o drarer erafid,
k Qe wHUY srams.

If 3+k, 18—k, 5k+1 are in A.P. then find k.
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19.  ewpeorseafier swm@sd wHmb CumssHLUeT —9 LOHMID 20 ereflen, Qmuig &
FOTUT(HNSHENETS & TS,
Determine the quadratic equations, whose sum and product of roots are —9 and 20.
20. 15x

2+11x+2=0 eTevp Qmug & FLOGTUTL g 607 epeBISETET Setennamws Srars.

Determine the nature of the roots for the quadratic equation 15x%+11x+2 =0,

21.  AABC Wlleir ugshiser AB wpmib AC Wen Bgierer Lataflser wpeymGu D wpmib

E 9parg DE || BC eremmeumny DDLOHFIETETS). % = % womib AC=15 Q&.15.
crefled, AE uderr iy srers.

In AABC, D and E are points on the sides AB and AC respectively such that DE || BC.
AD

3
]f —_— — hd
DB and AC=15 cm, find AE.

22. (=3, —4), (7, 2) wpmbd (12, 5) Y Hw yerallsear g CarLenwpsmeu erars

STL(Hs.

Show that the points (=3, —4), (7, 2) and (12, 5) are collinear.

23. 8x—7y+6=0 crenp Gariger smie] wHmbd y Qe RSHETEH < Swueuhens

seaSl (Ds.

Calculate the slope and y intercept of the straight line 8x — 7y+6=0.

[ wLiLs / Turn over
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24.

25.

26.

27.

28.

<

8
3x—2y—6=0 eramy Cpr&EGasr® 2w eiFasefion God ghudssId Qa0
ST SEETE STeTs.

Find the intercepts made by the line 3x—2y—6=0 on the coordinate axes.

103 B e-wreperer Caryysdlen 2iguleNmpg 30 S Qgreanaeiled seorudled
o 6iTem & LeratludleSl(pBS! Garyrsdlan o &8lulle ghmé Caramsamss &ranTs.
Find the angle of elevation of the top of a tower ﬁom a point on the ground, which is

30 m away from the foot of a tower of height 10J/3 m -

2 wFb 2 18 dHmib g liuriy 250 &.15. Qsmrenr g 2 (HeneTuiler S&T SjaTenels

SITEHTS.

Find the volume of a cylinder whose height is 2 m and base area is 250 m>

@@ usmL 2 (L LUUBD Cs Crrssle @ premuepd sl LILGEDS.
useLuled @hopliueml e oL lugn@hd, BraTwsded s
HevL_LiLgHD@GLrer HlELSSHmaIs &IanTs.

A die is rolled and a coin is tossed simultaneously. Find the probability that the die

shows an odd number and the coin shows a head.

Q@ Cpraul L& gabifer 2 wigrisefler aSllgb 1: 2 bHmID euhdlem g lILSSHE
spmereller allflsd 3 : 4 erafled, eupmlen e eraysaflen lfHD smeamTs.

The heights of two right circular cones are in the ratio 1 : 2 and the perimeters of their
bases are in the ratio 3 : 4. Find the ratio of their volumes.
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&S - M/ PART - I

GPIuY : eremeuCued 10 eflamés@Esss Heorwaissain. Sar aar. 42 &5
s muons eflent wsfiEzayn. 10x5=50

Note : Answer any 10 questions. Question No. 42 is compulsory.

29. A={re W |x<2,B={re N |1<zx<4)wpmb C={3, 3} aald,

AX(BNO=(AxB) N (AxC) erenuizenens sHUMESD.

Let A={xe W | x<2},B={x=s N |1<zx=<4}and C={3, 5}. Verify that
AX(BNC)=(AXB)n(AxC).

30. @@ sl (5 Osmii aflosudd owhs <B55655 wan e guussies
@@Bsd 27 wHmbd eupdler QupsSshume 288 aald. UB5 D&

2 MIUILSeneTs ST,

The sum of three consecutive terms that are in A P. is 27 and their product is 288. Find
the three terms.

31. 396, 504, 636 < Aweunblen 15.0UT.al. sTaENS.

Find the HCF of 396, 504, 636.

32. £iés : x+y+z=5 2x—y+z=9; x—2y+3z=16.

Solve : x+y+z=>5; 2x—y+z=9; x—2y+3z=16.

33. 64xt—1623+1722—2x+1 eTeLIzen QUiESAPRD STES.

Find the square root of 64x*—162>+17x*—2x+1.

[é@jqa/Tnmcver
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34.

35.

36.

37.

38.

Agrsyay Cappses s, Hpoys.

State and prove Pythagoras Theorem.

RO P&Caransen pHECaTEESET @ Letell s Qragb erans s (s,

Show that in a triangle, the medians are concurrent.

A6, 2), B(—5, —1) wpmid C(1, 9) -8 (PpOaseTss Qsrar.. AABC e (pen e
A Walmbs cuemruliL@n BHECHT Y6 SWeTLT s &ramrs.

Find the equation of the median of AABC through A where the vertices are A(6, 2),
B(—5, —1) and C(1, 9).

P(—1, —4), Q(b, ¢) wpmd R(5, —1) eramuan Gy Crr&Gamigd =jenwwyb
yeeflaar erems. Gogud 2b+c=4 erafled b pmibd ¢ -Wer w1 Srars.

If the points P(—1, —4), Q(b, c) and R(5, —1) are collinear and if 2b+c=4, then find
the values of b and c.

B sliLdsET a;eﬁrfua;emu Aersssder @ LGsEISalgID SLelléd Liweamrid
Qeliflenper. @@ sLLOSAS MBS sohsmr elaréssHear o Ffufer TDHDE
Csremiiger weapGu 30° HmID 45° UGWL. SOmsHT alasssder o Wb
200 8 erafled @ FLILOSEREGD QG 2 drer Qgrenvancud &rams.

(V3 =1.732)

Two ships are sailing in the sea on either sides of a lighthouse. The angle of elevation of
the top of the lighthouse as observed from the ships are 30° and 45° respectively. If the

lighthouse is 200 m high, find the distance between the two ships. (V3 = 1.732)
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45 Q&.18. 2 wipeparer g Bt

PO 7 Qe.15. oreich, Gors a;ml_g,g\m Q@UD Y rrisar peapCGu 28 Q.18

LGS 6 S DeTan6Ud SIS

If the radii of the Circular e

find the volume of (i frusnd.s of a frustum which is 45 cm high are 28 cm and 7 cm,

tum.

R 2 meerufler Bg et Adr&EGaTend Gaamhgeurn e 6rer g Gumbaoufen

Qs ; :
m“g’ﬁ j"—"JULD 25 Q& .15, WGW. gen N_Lib 12 G8.18. erasfléy, Qumbenioudies
Glorggsi UDLUTlenus srams.

fk ;c;y is in t'he shape of a cylinder surmounted by a hemisphere. The height of the toy
is c¢m. Find the total surface area of the toy if its common diameter is 12 cm.

Qran® useLsaT 2 L Lu@dapar. HeoLss’s QU ws WIHLILSaNe

- &mDB® (i) 4 -5@& swWNS (i) 10 - N PHswrs (i) 13 - s Gopeuns

Qmuusharer HEpSEe| Sremms.

Two dice are rolled. Find the probability that the sum of outcome is (i) equal to 4
(ii) greater than 10 (iii) less than 13. :

R C (1+m2)x2+2mcx+cz—az=0 -6 PPQEISGET FOD eTaflé c2=a2(1+m?)

eren Hlmieys.

If the equation (1 +m2)x2+2mcx+c2—a2=0 has equal roots, then prove that
c2=a2(1+m?).

[ Siuys / Turn over
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LR - IV/PART - IV
. siemaras Samiscsich Serwsidsann 2x8=16
@ﬁl-!!-l-c--%?-\;’i SEES=ITC - -

o = = - = R ~
43. (=) PQ=435 Gz, £R=35" oo 258 R -dEpda asruiulc
- - ~ = —FA e § -~ 3 ) ¢
5@3Gamw & Semd RG=0¢ Q=18 o stLuerm APQR auisps
SIS
(=) 6 Q=18 Q11 godrar en b @aiRa i) 288 evwsdIEas 8 Qs
Qsraaddd P aap udsiewd gldsqp. ouuasilSosa PA
Lo PB aan QG QerRGarfas atrrda ahda& SeTRisasT
~
et R=.
(@) Constroct a APQR whose base PQ=45 an, ZR=35 and the madian from R to
RGiséan

OR

(p) Draw a circle of diameter 6 cm from a point P, which is § an away from its
centre. Draw two tangents PA and PB to the drde and measure their lengths.

- - - - - E £
S ITL 2 & QUapTULLD UaRY, STeial oaiad
<

4. (=) ©+x—12=0caED SO

15

adrsa. Ssoan vusulsS

(<) v=x"23r—4 -G& a@rurd aDF

> ] - - - - E : -
1~ L3r—4=0 gap FWITUTLDLS TS/

(a) Draw the graph of r+x—12=0

2,
',%
7
i
?
i
y
z
3

(6) Draw the graph of y=x"+3x—4 and hence use it to solve =+3r—4=0

-000-
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